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Instructions: Show all work. Use exact answers or appropriate rounding conventions. If you use your

: . . |
calculator, you can show work by saying which calculator commands ‘you used.

\
1. Criminologists have long debated whether temperatures affect crime rates. Analyze the data
below with a )(1 test. \
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2. The number of male children in families with 3 children shoul‘d be a binomial distribution.
Suppose a randgm sample of 160 families yields the data in tf‘]e table below. Test the relevant

hypothesis to see if it differs markedly from the expected.

Number of Male 0 1 } 2 3
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3. Consider the following data on human lateralization (handedness) whose feet were measured.

If the size differed by more than half a shoe size they were div}ided into greater than or less than

groups. |

L>R L=R L<R Sample Size
Men 2 10 28 40
Women 55 18 14 87

Does the data 51:|ggest that gender has a strong influence on the development of foot

asymmetry? Test the appropriate hypothesis. {_LD S m o Z v
hae W—leot | K = 4500 g S_Hﬂ' bt
. - - R e <
Mabvg A D= 1681 XD »Wju)‘{"}'b




